

Ex The n^{th} derivative (differential coefficient) of $(ax+b)^m$, where m is +ve integer $\geq n$.

Solution:- Let $y = (ax+b)^m$ — (1)
 on differentiating both sides w.r.t. x
 successively, we get.

$$y_1 = \frac{dy}{dx} = m a (ax+b)^{m-1}$$

$$y_2 = \frac{d^2y}{dx^2} = m(m-1)a^2(ax+b)^{m-2}$$

$$y_3 = \frac{d^3y}{dx^3} = m(m-1)(m-2) \cdot a^3 \cdot (ax+b)^{m-3}$$

$$y_n = \frac{d^ny}{dx^n} = m(m-1)(m-2) \dots [m-(n-1)] a^n (ax+b)^{m-n} \quad \text{--- (2)}$$

Again, differentiating \mathcal{E}_n^h (2)

$$y_{n+1} = \frac{d^{n+1}y}{dx^{n+1}} = m(m-1)(m-2) \dots [m-(n-1)] (m-n) a^n (ax+b)^{m-(n+1)}$$

Since, y_{n+1} is of the same form as y_n in \mathcal{E}_n^h (2)

If \mathcal{E}_n^h (2) is true for a particular value of n ,
 then \mathcal{E}_n^h (2) is true for next higher value of n .

\mathcal{E}_n^h (2) is true for $n=1, 2, 3, \dots, n$.

Therefore, by mathematical induction, Eqⁿ(2) is true for every positive integer n.

From equation (2), we can write y_n as follows

$$y_n = \frac{m(m-1)(m-2)\dots(m-(n-1))(m-n)(m-n-1)\dots 3 \cdot 2 \cdot 1}{(m-n)(m-n-1)\dots 3 \cdot 2 \cdot 1} \times a^n (ax+b)^{m-n}$$

s.c
$$y_n = \frac{m!}{(m-n)!} a^n (ax+b)^{m-n}$$

$$\Rightarrow y = (ax+b)^m \Rightarrow y_n = a^n (ax+b)^{m-n} \cdot \frac{L_m}{L_{m-n}}$$

Put $a=1$ & $b=0$

$$y = x^m \Rightarrow y_n = \frac{L_m}{L_{m-n}} \cdot 1^n (1 \cdot x + 0)^{m-n}$$

$$y_n = \frac{L_m}{L_{m-n}} \cdot x^{m-n}$$